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L Kay = oo, then lim a, = B
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2. Recall 1hat 2a=¢ Then : oy - L
3. Let jir E Fh&vﬂteh :nH such that A A = 4, f:l. T

0, [Ax HEC—D(ﬂKH € = 10. Tlteﬂ;ﬂxf: ?‘?;
4. The iangent fice to tie graph of 2% + ¥* = 2ey at (1, 1) s I .
_ . stndz @«
3. Let o be a constant such that ltm (~—— 1 -—) = 0. Ther ¢ =
T —eih ,'_'L_"'1 r
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6. f ———=dz = T

- Let £7(2) = j j sin{zy)dydr Then 7 (E‘EJ =

-1

8. A bousewife has a sum of meney to deposit in a bank which g ves
her an interest compounded continuowesly at the rate of 6% annu

ally. If she will get $1000 {otty meonths later, the sum that she is
holding now ts &
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Evaluate ff |v3z — yldzdy where 1} is the region in Lthe first quad-

rant that lies inside the eircle ¥ + 4° = 4 and cutside the circle
2. .7
T = 1.
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A rectangular box without a top is to have a volurne of 12 cubic
feet, Suppose that the material to be used to construct the box
coste 343 per square foot for ine sides and 34 per square foot for
the botlom. Find the dimensions for the box that will vield the
mnirum cost,
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If Zun 15 & couvergend series with a, > { for all n. prove that

n=1\
e

.
Z L, 15 i‘lIEC' ‘"—C‘T‘."-’EI'E’E-‘HE.
11=1



	CE001
	CE002

